8.2 Soling Sysiems of Equatims
Algebraically —(fart-2)

Solve by Eliminahon

© lobel each equotion
3x+5=-9 @
4> -x 4y = -9 Q)

@ Kea.rmmr the equahims fo line wp
the  vartables .
3x + y=- 9
4t - x4 y= -9

@ i necessary | mu.li\'ply one or both of he
equodoms by o cmlunl—.)
unnecessany for this examjle
since "5“ has coeff, of | m
each equohom

@ Add or suback the two equatoms b
eliminate one of +he yariables

3x ty = -9
—(at-x4y =-9)
- 4x*+ 4y =0

@ Solve the equation

-4xt+ 4y =0
- 4x(x-1) =0
v\

X=0 X=1



(@) Substitde Hhe Volue(s) fownd
siep® and solve for +he nmoininﬂ
Variable .

Xx+y=-9

y= -9-3x
X=0 y: -9-%0) = -9
x=1: y=-9-3(l) = -2
@ Ven'fy #he  solutvon (s) .

Example : Solve uslmj eliminahon
3 -bx+2-2y =0 O
y= x*4+x-5 ®

I -x+2 = 2y 0
Z(x'-i-x-s = y) @

muttiply @ by 2 fo get the
Same “y" coefficients .

3x*-bx +2 = 2y 0)
- lez-l-?-x-lO: Z\';)@

xt-8x+12= 0

(x-L)x-2)=0

d

X=b X=1

X=b: y=X+4x-5
3

y= 3
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